

Jackson Co. Junior Fair Sale 2023 Jackson County Fair



Moon, Emma	Jackson								amounts
	County Livestock	Grand Champion	Market Rabbit	075, 074	9.60	Coalton Volunteer FD	\$135.42	\$1,300.00	Animals Unlimited Veterinary Hospital \$5.00, Coughenour LLC \$75.00
Wyant, Makayla	Ridge Runners	Last Year, Reserve Champion	Market Rabbit	303,304.	10.10	Dr. Marla and Paul Haller, Jackson Co. Comm., Fannin Cattle, Jones Stephenson Insurance, Mark Porter Ford, Ohio Valley Bank	\$227.72	\$2,300.00	Animals Unlimited Veterinary Hospital \$5.00, Genevieve Davis, DVM \$60.00
Triplett, Dylan	Barnyard Rascals	Donor, Overall Showman	Market Rabbit	088, 090	7.30	Atomic Credit Union, Jackson- Vinton Farm Bureau	\$75.34	\$550.00	Animals Unlimited Veterinary Hospital \$5.00
Landrum, Taylor	Barnyard Rascals	3rd Overall	Market Rabbit	020, 022	8.40	Bren Mar Constructio n	\$101.19	\$850.00	Animals Unlimited Veterinary Hospital \$5.00, Jon McMillen \$350.00

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
5	Whetstone, Dustin	Highlanders	4th Overall	Market Rabbit	229, 231	8.10		Jackson Ag Service	\$49.38	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Legends Pit Stop \$25.00, New Roachie Farm \$25.00
6	Moon, Brenton	Jackson County Livestock	5th Overall	Market Rabbit	67, 071	9.00		GEM Beverages Inc.	\$55.56	\$500.00	
7	Hall, Madison	Country Super Stars	Donor, 6th Overall	Market Rabbit	004, 006	8.20		Weatherabl es	\$42.68	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Bill and Melissa Griffith \$25.00
8	Harwood, Natalie	Ridge Runners	7th Overall	Market Rabbit	222, 221	7.40		Ohio Valley Bank	\$74.32	\$550.00	Mark Porter Ford \$100.00
9	Howell, Nicklaus	Barnyard Rascals	8th Overall	Market Rabbit	049, 051	10.00		Elizabeth's Custom Tees	\$65.00	\$650.00	Animals Unlimited Veterinary Hospital \$5.00, Jones Stephenson Insurance \$100.00, Lewis Insurance Agency \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 2 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
10	Mercer, Ava	Ridge Runners	9th Overall	Market Rabbit	224 225	8.70		Jackson Ag Service	\$51.72	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Legends Pit Stop \$25.00, New Roachie Farm \$25.00
11	Wilson, Kerrigan	Jackson County Livestock	Donor, 10th Overall	Market Rabbit	110, 109	8.10		Lee Saylor Logging	\$104.94	\$850.00	Animals Unlimited Veterinary Hospital \$5.00, Long's Retreat \$500.00, Sheward- Fulks Insurance \$50.00
12	Ross, Noelle	Barn Bunch		Market Rabbit	314, 315	8.60		Todd and Jessica Blevins	\$46.51	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Bill and Melissa Griffith \$25.00, Elizabeth's Custom Tees \$50.00, Legends Pit Stop \$25.00
13	Burns, Alexander	Highlanders		Market Rabbit	181, 183	7.80		DQ Wellston	\$44.87	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Ohio Valley Bank \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 3 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
14	Merrill, Addison	Jackson County Livestock	Donor	Market Rabbit	325 326	8.00		Mark Porter Chevrolet, Buick, GMC	\$93.75	\$750.00	Animals Unlimited Veterinary Hospital \$5.00, Coughenour LLC \$25.00, Philip and Danielle Malone \$10.00
15	Lester, Rhyan	Country Classics	Donor	Market Rabbit	360, 361	7.00		Precious stone honey and supply	\$78.57	\$550.00	Animals Unlimited Veterinary Hospital \$5.00, L&L Scrap Metals Recycling, Inc. \$50.00, Philip and Danielle Malone \$10.00

2023-07-31 09:57:59 GMT-05:00 Page 4 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
16	Merrill, Bayleigh	Highlanders		Market Rabbit	318, 320	7.30		Pro Tree Service	\$89.04	\$650.00	Animals Unlimited Veterinary Hospital \$5.00, Bill and Melissa Griffith \$25.00, Ohio Valley Bank \$35.00, Pro Tree Service \$350.00, Serenity Farms \$50.00, T & R Discount Tires \$200.00
17	Rose, Kenadi	Barnyard Rascals	Donor	Market Rabbit	58 60	7.80		Rose's Recovery	\$70.51	\$550.00	Animals Unlimited Veterinary Hospital \$5.00, Caudill Chipping \$150.00
19	Thompson, Alexis	Barnyard Rascals		Market Rabbit	159, 160	8.60		JVC Metals	\$52.33	\$450.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 5 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
20	Zinn, Natalie	Forward Thinkers		Market Rabbit	306, 307	8.00		Southern Ohio Adventures & Recreation	\$68.75	\$550.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Caudill Chipping \$50.00, Southern Ohio Adventures & Recreation \$50.00
21	Lewis, Tysen	Barnyard Rascals		Market Rabbit	195 197	7.10		Gas N Stuff, Southern Ohio Adventures & amp; Recreation	\$105.63	\$750.00	Animals Unlimited Veterinary Hospital \$5.00, Caudill Chipping \$100.00, Sheward- Fulks Insurance \$25.00, Southern Ohio Adventures & Description & Chipping
22	Baker, Astara	Hayseeds		Market Rabbit	238, 237	8.20		Just Meats - Retail & Processing	\$48.78	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 6 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
23	Davidson, Carter	Hayseeds	Donor	Market Rabbit	82 83	7.40		Jackson Ag Service, Nationwide Insurance/V irgil Hamilton	\$87.84	\$650.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Good Farms \$25.00, Levi Matthews \$50.00, Ohio Valley Bank \$35.00, Taylor Family Farm \$50.00
24	Montgomer y, Hadley	Too Hot Too Trot		Market Rabbit	354 353	9.50		JVC Metals	\$36.84	\$350.00	Animals Unlimited Veterinary Hospital \$5.00
25	Little, Braxton	Jackson County Livestock		Market Rabbit	112 113	7.40		Wellston City School Board/Mem ber	\$54.05	\$400.00	Animals Unlimited Veterinary Hospital \$5.00
26	Hopper, Elizabeth	Corn Fed Crew		Market Rabbit	013, 015	8.40		Jackson Firefighters Association	\$95.24	\$800.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Circle M Meats \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 7 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
27	Marcum, Cooper	Corn Fed Crew	Donor	Market Rabbit	148 149	7.10		Holzer Health System	\$63.38	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00, Nea Henry, Agent for Appalachia Realty \$200.00, Ohio Valley Bank \$35.00
28	Thompson, Abigail	Barnyard Rascals		Market Rabbit	161, 162	9.20		Atomic Credit Union, Mark Porter Chrysler Dodge Jeep Ram	\$48.91	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Philip and Danielle Malone \$10.00
29	Clarkson, Jacob	Totally Awesome Kids	Donor	Market Rabbit	246 247	7.30		Wellston City School Board/Mem ber	\$47.95	\$350.00	Animals Unlimited Veterinary Hospital \$5.00
30	Spires, Abigail	Ridge Runners		Market Rabbit	369, 370	7.80		Meadows Law Office	\$44.87	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, FLUOR- BWXT Portsmouth \$100.00, Miller's Builders, Bob Miller \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 8 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
31	Blevins, Colt	Jimes Buckeyes		Market Rabbit	23, 25	9.30		Paula Stewart Oak Hill School Board	\$43.01	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Ryan & amp; Ashley Foster \$20.00
32	Johnson , Haylie	Barnyard Rascals	Last Year	Market Rabbit	122,124	7.90		AMP Farms, Jackson- Vinton Farm Bureau, Kim Harless, Jackson City School Bd. Member	\$113.92	\$900.00	Am Vets Post 84 \$250.00, Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, FLUOR-BWXT Portsmouth \$100.00, Jackson VFW Post 8402 \$100.00, Stewart Electric \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 9 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
33	Hill, Peyton	Ridge Runners		Market Rabbit	138,139	9.20		Michael Perkins	\$97.83	\$900.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Mark Porter Chrysler Dodge Jeep Ram \$100.00, Nea Henry, Agent for Appalachia Realty \$200.00, Ohio Valley Bank \$35.00, Sheward- Fulks Insurance \$50.00
34	Browning, Bobbie	Country Classics	Donor	Market Rabbit	094, 095	7.20		Armstrong Farms	\$62.50	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Miller's Builders, Bob Miller \$50.00, Sheward- Fulks Insurance \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 10 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
35	Moore, Olivia	Barn Bunch	Last Year, Donor	Market Rabbit	008, 009	9.40		Arch and Eddie's, Atomic Credit Union, Jackson Ag Service, Jackson-Vinton Farm Bureau, Mark Porter Ford, Nationwide Insurance/Virgil Hamilton	\$117.02	\$1,100.00	Animals Unlimited Veterinary Hospital \$5.00, FLUOR- BWXT Portsmouth \$100.00, Legends Pit Stop \$25.00, Nea Henry, Agent for Appalachia Realty \$200.00, Sheward- Fulks Insurance \$50.00, Toro Loco \$500.00
36	Ross, Aidan	Barn Bunch	Donor	Market Rabbit	128, 132	8.70		Ohio Valley Bank	\$68.97	\$600.00	Animals Unlimited Veterinary Hospital \$5.00, Jon McMillen \$150.00, Miller's Builders, Bob Miller \$50.00
37	Montgomer y, Olivia	Too Hot Too Trot		Market Rabbit	350 351	8.20		Coalton Volunteer FD, People's Bank of Wellston and Jackson	\$134.15	\$1,100.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Storage \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 11 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
38	Alexander, Realynn	Corn Fed Crew	Donor	Market Rabbit	212 213	7.10		Jackson Firefighters Association	\$49.30	\$350.00	Animals Unlimited Veterinary Hospital \$5.00
39	Eggers, Tyler	Barn Bunch		Market Rabbit	10, 11	9.10		Nationwide Insurance/V irgil Hamilton	\$82.42	\$750.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Judge Justin W. Skaggs \$50.00, Nea Henry, Agent for Appalachia Realty \$200.00, WesBanco \$50.00
40	Jones, Trinity	Forward Thinkers	Last Year	Market Rabbit	018 019	7.20		Lewis & Gillum Funeral Homes-Oak Hill and Jackson	\$76.39	\$550.00	Animals Unlimited Veterinary Hospital \$5.00
41	McKinniss, Morgann	Barnyard Rascals		Market Rabbit	342, 343	7.70		Leedy Angus Farms	\$51.95	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00

2023-07-31 09:57:59 GMT-05:00 Page 12 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
42	Jones, Caydee	Jackson County Livestock	Donor	Market Rabbit	104 105	7.90		Wilson Excavating	\$69.62	\$550.00	Animals Unlimited Veterinary Hospital \$5.00
43	Eisnaugle , Carson	Jackson County Livestock	Donor	Market Rabbit	100 103	8.60		Hair Hutt	\$40.70	\$350.00	Animals Unlimited Veterinary Hospital \$5.00
44	Cantor, Blake	Highlanders		Market Rabbit	114, 117	7.00		Mark Porter Chrysler Dodge Jeep Ram	\$50.00	\$350.00	Animals Unlimited Veterinary Hospital \$5.00
45	Coon, Adelyn	Jackson County Livestock		Market Rabbit	63 64	8.30		Bren Mar Constructio n	\$72.29	\$600.00	Animals Unlimited Veterinary Hospital \$5.00, Coughenour LLC \$25.00
46	Alexander , Ryley	Corn Fed Crew	Donor	Market Rabbit	210, 211	7.60		Holzapfel Family Clinic	\$52.63	\$400.00	Animals Unlimited Veterinary Hospital \$5.00
47	Nichols , Tatum	Corn Fed Crew		Market Rabbit	120, 121	8.30		Chapman Paving	\$108.43	\$900.00	Animals Unlimited Veterinary Hospital \$5.00, Audrianna Thornhill & Donn & Samp; Ashley Foster \$20.00

2023-07-31 09:57:59 GMT-05:00 Page 13 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
48	Davis, Baylee	Country Classics		Market Rabbit	332, 334	7.00		Geiger Brothers	\$107.14	\$750.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Bill and Melissa Griffith \$25.00, Jackson Ag Service \$50.00, Nationwide Insurance/V irgil Hamilton \$50.00, Ohio Valley Bank \$35.00
49	Butts, Emma	Barnyard Rascals	Donor	Market Rabbit	52, 53	9.30		McDonalds/ Wellston/Ja ckson/Oak Hill	\$53.76	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Audrianna Thornhill & John Thornhill \$10.00

2023-07-31 09:57:59 GMT-05:00 Page 14 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
50	Helman, Alexus	Ridge Runners		Market Rabbit	367, 368	8.90		McDonalds/ Wellston/Ja ckson/Oak Hill	\$61.80	\$550.00	Animals Unlimited Veterinary Hospital \$5.00, Nationwide Insurance/V irgil Hamilton \$50.00
51	Kiser, Kyle	Jackson County Livestock	Last Year	Market Rabbit	191, 187	7.30		Beckner for commission er, Jerry's Do It Center	\$89.04	\$650.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00
52	Folden, Collin	Barn Bunch		Market Rabbit	330, 331	8.00		Atomic Credit Union, Jackson- Vinton Farm Bureau	\$37.50	\$300.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Dan and Terri Bennett \$50.00, Jackson Storage \$50.00
53	Lockard, Natalie	Highlanders		Market Rabbit	198, 199	7.20		Premier Painting	\$62.50	\$450.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 15 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
54	Anders, Brayley	Highlanders		Market Rabbit	179, 180	9.00		McDonalds/ Wellston/Ja ckson/Oak Hill	\$61.11	\$550.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Brian Moore Constructio n \$50.00, Harwood Farms \$100.00, Serenity Farms \$25.00, Taylor Excavating \$50.00
55	Johnson , Peyton	Barnyard Rascals		Market Rabbit	125,126	7.70		AMP Farms, Jackson- Vinton Farm Bureau	\$116.88	\$900.00	Am Vets Post 84 \$250.00, Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, FLUOR- BWXT Portsmouth \$100.00, Jackson VFW Post 8402 \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 16 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
56	Rose, Ashlynn	Barnyard Rascals	Donor	Market Rabbit	56 57	7.90		Mill tree Inc, Rose's Recovery	\$75.95	\$600.00	Animals Unlimited Veterinary Hospital \$5.00, Caudill Chipping \$150.00
57	Hebert, Zoey	Ridge Runners	Donor	Market Rabbit	157, 156	8.30		Big Sky Goat Farm	\$54.22	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Philip and Danielle Malone \$10.00
58	Johnson, Katie	Totally Awesome Kids		Market Rabbit	208 209	7.40		Premier Painting	\$47.30	\$350.00	Animals Unlimited Veterinary Hospital \$5.00
60	Canter, Ani	Hayseeds		Market Rabbit	43, 44	9.10		McDonalds/ Wellston/Ja ckson/Oak Hill	\$60.44	\$550.00	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00
61	Clarkson, Jasmine	Totally Awesome Kids		Market Rabbit	242 243	7.90		Coalton Volunteer FD	\$50.63	\$400.00	Animals Unlimited Veterinary Hospital \$5.00
62	Kiser, Blake	Hayseeds		Market Rabbit	188, 185	6.30		JVC Metals	\$87.30	\$550.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 17 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
63	Crislip, Arianna	Forward Thinkers		Market Rabbit	039, 041	7.00		GEM Beverages Inc.	\$50.00	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Hands on Medical Massage \$30.00, Zinn's Family Farm \$30.00
64	Sparks, Clyde	Moonshine		Market Rabbit	65, 66	7.50		Donnie Willis, Jackson County Commission er	\$40.00	\$300.00	Animals Unlimited Veterinary Hospital \$5.00, Dan and Terri Bennett \$50.00, Jackson Storage \$50.00
65	Smittle, Von	Hayseeds		Market Rabbit	204, 205	8.00		S&M Tax&A ccounting Inc	\$62.50	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00
66	Montgomer y, Piper	Too Hot Too Trot	Donor	Market Rabbit	355, 357	7.70		Holzapfel Family Clinic	\$51.95	\$400.00	
67	Smittle, Brandi	Hayseeds	Donor	Market Rabbit	206, 207	7.90			\$0.00	\$0.00	
68	Moore, Katie	Moonshine		Market Rabbit	173, 174	7.40		DL Martin Trucking LLc, Jeff Dyer Trucking	\$54.05	\$400.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 18 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
69	Kildow, Gabriel	Too Hot Too Trot		Market Rabbit	084 085	7.00		DL Martin Trucking LLc, Jeff Dyer Trucking	\$57.14	\$400.00	Animals Unlimited Veterinary Hospital \$5.00
70	Taylor, Sophia	Ridge Runners	Grand Champion	Market Poultry	66	15.60		Atomic Credit Union, Holzer Health System, Jackson Ag Service, Jackson- Vinton Farm Bureau, Mark Porter Auto Group, Nationwide Insurance/V irgil Hamilton, Randy Evans Constructio n	\$153.85	\$2,400.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
71	Workman, Emylee	Irish Hollow Kids	Reserve Champion	Market Poultry	31	11.30		Judge Justin W. Skaggs, Southern OH Monument, Trisch Const	\$292.04	\$3,300.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Justin and Laura Euton \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 19 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
72	Riegel, Grant	Ridge Runners	Donor, Overall Showman, 8th Overall	Market Poultry	45	15.20		Atomic Credit Union, Jackson Ag Service, Jackson- Vinton Farm Bureau, Nationwide Insurance/V irgil Hamilton	\$85.53	\$1,300.00	3 Seasons Lawncare \$25.00, Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Ohio Valley Bank \$35.00, Sheward- Fulks Insurance \$25.00, Taylor Excavating \$100.00
73	Biggs, Matthew	Highlanders	3rd Overall	Market Poultry	73	15.50		DL Martin Trucking LLc, Jeff Dyer Trucking	\$25.81	\$400.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 20 of 113 total

						Check-in		_			Add-ons with
Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	amounts
74	Harwood, Natalie	Ridge Runners	4th Overall	Market Poultry	59	13.60		Atomic Credit Union, Jackson Ag Service, Mark Porter Ford, Nationwide Insurance/V irgil Hamilton	\$40.44	\$550.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
75	Burnside, Kirk	Ridge Runners	6th Overall	Market Poultry	64	15.20		Mark Porter Ford	\$55.92	\$850.00	Animals Unlimited Veterinary Hospital \$5.00, Genevieve Davis, DVM \$60.00, Jackson Ag Service \$50.00, Judge Justin W. Skaggs \$15.00, Nationwide Insurance/V irgil Hamilton \$50.00, WesBanco \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 21 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
76	Euton, Harper	Barnyard Rascals	Donor, 7th Overall	Market Poultry	96	14.05		Mark Porter Ford	\$60.50	\$850.00	Animals Unlimited Veterinary Hospital \$5.00, Audrianna Thornhill & Description Animal Structure Animal Struc
77	Durham, Josealynn	Irish Hollow Kids	9th Overall	Market Poultry	85	14.10		Meadows Law Office	\$28.37	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Storage \$100.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 22 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
78	Valentine, Colin	Barn Bunch	Donor, 10th Overall	Market Poultry	23	15.05		Jackson Save A Lot, Jones Stephenson Insurance	\$39.87	\$600.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
79	Workman, Haillee	Irish Hollow Kids		Market Poultry	33	12.00		JVC Metals	\$29.17	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Audrianna Thornhill & John Thornhill \$25.00, Bad Habit Farms \$20.00, Harwood Farms \$50.00, Judge Justin W. Skaggs \$15.00, Justin and Laura Euton \$25.00
80	Williams, Allena	Animal House		Market Poultry	8	14.70		Little Horns Cattle Ranch	\$27.21	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 23 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
81	Comer, Carter	Irish Hollow Kids		Market Poultry	19	12.95		Trisch Const	\$34.75	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Gary Finchum \$30.00, Judge Justin W. Skaggs \$15.00
82	Dickerson, Summer	Totally Awesome Kids		Market Poultry	2	13.30		Bernie Moreno for Senate	\$33.84	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
83	Bates, Zain	Corn Fed Crew	Donor	Market Poultry	43	10.90		Coalton Volunteer FD	\$50.46	\$550.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Audrianna Thornhill & John Thornhill \$25.00, Jackson Ag Service \$50.00, Judge Justin W. Skaggs \$15.00, Trisch Const \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 24 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
84	Fox, Christian	Barnyard Rascals		Market Poultry	56	15.70		Rose's Recovery	\$31.85	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
85	Wells, Xander	Barnyard Rascals		Market Poultry	94	14.40		Rose's Recovery	\$31.25	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
86	Thornhill, Mason	Irish Hollow Kids		Market Poultry	81	12.95		Michael Sheeter Quail Meadow Farm	\$38.61	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Audrianna Thornhill & John Thornhill \$50.00, Judge Justin W. Skaggs \$15.00, Justin and Laura Euton \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 25 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
87	Trisch, Logan	Irish Hollow Kids		Market Poultry	52	15.05		Mark Porter Auto Group, Ohio Valley Bank, Trisch Const	\$79.73	\$1,200.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Bad Habit Farms \$20.00, Judge Justin W. Skaggs \$15.00, Justin and Laura Euton \$25.00
88	Easley, Abigail	Irish Hollow Kids		Market Poultry	32	11.70		R & E Excavating	\$42.74	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Bad Habit Farms \$20.00, Judge Justin W. Skaggs \$15.00, Justin and Laura Euton \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 26 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
89	Salyers, Gauge	Jimes Buckeyes	Donor	Market Poultry	13	13.70		Holzer Health System	\$36.50	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Cozy Glenn Firearms \$25.00, Harwood Farms \$100.00, Judge Justin W. Skaggs \$15.00, Mark Porter Auto Group \$150.00
90	Hightower, Nevaeh	Country Classics		Market Poultry	72	10.70		Dr. Marla and Paul Haller, Jackson Co. Comm., Ohio Valley Bank	\$60.75	\$650.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$10.00, Judge Justin W. Skaggs \$15.00
91	Easley, Nevaeh	Irish Hollow Kids	Last Year, Donor	Market Poultry	30	14.50		DQ Wellston	\$27.59	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Bad Habit Farms \$20.00, Judge Justin W. Skaggs \$15.00, Justin and Laura Euton \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 27 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
92	Moore, Brady	Irish Hollow Kids	Donor	Market Poultry	76	14.90		Jackson County Banking Center of Vinton County National Bank	\$26.85	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
93	Weathersbe e, Kaydee	Franklin Guys and Gals		Market Poultry	40	12.00		Mark Porter Ford	\$41.67	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Philip and Danielle Malone \$10.00

2023-07-31 09:57:59 GMT-05:00 Page 28 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
94	Riegel, Joslyn	Ridge Runners	Donor	Market Poultry	47	15.30		Mark Porter Chevrolet, Buick, GMC, Ohio Valley Bank	\$49.02	\$750.00	3 Seasons Lawncare \$25.00, Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Judge Justin W. Skaggs \$15.00, Sheward- Fulks Insurance \$25.00, Taylor Excavating \$100.00
95	Clarkson, Joshua	Totally Awesome Kids		Market Poultry	17	13.00		Southern OH Monument	\$34.62	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 29 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / lb	Bid Price	Add-ons with amounts
96	Thornhill, Madison	Irish Hollow Kids		Market Poultry	86	14.45		GEM Beverages Inc.	\$20.76	\$300.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Audrianna Thornhill & John Thornhill \$250.00, Dan and Terri Bennett \$50.00, Harwood Farms \$100.00, Judge Justin W. Skaggs \$15.00, Justin and Laura Euton \$25.00
97	Jones, Maycee	Franklin Guys and Gals		Market Poultry	28	10.70		Mark Porter Chrysler Dodge Jeep Ram	\$42.06	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 30 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
98	Durham, Jasmine	Irish Hollow Kids		Market Poultry	82	14.05		Southern OH Monument	\$24.91	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
99	Harris, William	Ridge Runners		Market Poultry	49	15.30		Lockard Insurance, Southern OH Monument	\$49.02	\$750.00	Animals Unlimited Veterinary Hospital \$5.00, Appalachia Realty \$50.00, Atomic Credit Union \$30.00, Judge Justin W. Skaggs \$15.00, Taylor Excavating \$100.00
100	Porter, Eedie	Barnyard Rascals	Donor	Market Poultry	6	11.85		Doug & Phyllis Rose	\$37.98	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Porter Family \$400.00

2023-07-31 09:57:59 GMT-05:00 Page 31 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
101	Keirns, Chase	Ridge Runners		Market Poultry	16	13.10		Ed's Auction Service	\$26.72	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Cozy Glenn Firearms \$25.00, Jackson Storage \$100.00, Judge Justin W. Skaggs \$15.00
102	Stumbo, Raevyn	Medallions	Donor	Market Poultry	91	15.65		Chris Walls, Southern OH Monument	\$31.95	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
103	Moore, Rielynn	Irish Hollow Kids	Donor	Market Poultry	88	15.10		Jackson County Banking Center of Vinton County National Bank	\$23.18	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Audrianna Thornhill & John Thornhill \$25.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 32 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
104	Sickles, Gabrielle	Totally Awesome Kids		Market Poultry	20	11.45		Coalton Volunteer FD	\$78.60	\$900.00	Animals Unlimited Veterinary Hospital \$5.00, Bill and Melissa Griffith \$25.00, Judge Justin W. Skaggs \$15.00, Shoemaker Rentals \$50.00
105	Denney, Elaina	Ridge Runners	Donor	Market Poultry	003	11.20		S&M Tax&A ccounting Inc	\$71.43	\$800.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
106	Coughenour , Madeline	Jackson County Livestock	Donor	Market Poultry	27	16.00		Coughenour	\$28.13	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Coughenour LLC \$100.00, Judge Justin W. Skaggs \$15.00, Serenity Farms \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 33 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
107	Valentine, Ava	Barn Bunch	Donor	Market Poultry	39	13.60		Jackson Save A Lot, Jones Stephenson Insurance	\$22.06	\$300.00	Animals Unlimited Veterinary Hospital \$5.00, Dan and Terri Bennett \$50.00, Judge Justin W. Skaggs \$15.00
108	Harper, Skylar	Barnyard Rascals		Market Poultry	77	13.10		Triple HHH Farm	\$45.80	\$600.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
110	Perez, Llasmin	Forward Thinkers		Market Poultry	54	11.80		Mark Porter Ford	\$33.90	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
111	Kearns, Adley		Donor	Market Poultry	42	14.60		Jeff Williams J.W. Enterprises	\$41.10	\$600.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 34 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
112	Perez , Alejandro	Forward Thinkers		Market Poultry	95	14.00		Mark Porter Chrysler Dodge Jeep Ram	\$25.00	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Serenity Farms \$25.00
113	Sites, Walker	Oak Hill FFA	Donor	Market Poultry	67	12.60		Mark Porter Chevrolet, Buick, GMC	\$29.76	\$375.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
114	Perez, Mauricio	Forward Thinkers		Market Poultry	63	12.50		JVC Metals	\$26.00	\$325.00	Animals Unlimited Veterinary Hospital \$5.00, Dan and Terri Bennett \$25.00, Judge Justin W. Skaggs \$15.00
115	Simpson, Charlee	Highlanders		Market Poultry	11	15.00		Ohio Valley Bank	\$23.33	\$350.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Taylor Excavating \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 35 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
116	Moon, Brenton	Jackson County Livestock	Grand Champion	Market Turkey	030	42.00		Bren Mar Constructio n, Coalton Volunteer FD, Jerry's Do It Center, Papa John's of Jackson & Dackson & Dac	\$52.38	\$2,200.00	Animals Unlimited Veterinary Hospital \$5.00, Coughenour LLC \$40.00, Judge Justin W. Skaggs \$15.00
117	Murray, Schuler	Ridge Runners	Reserve Champion	Market Turkey	007	37.00		Coalton Volunteer FD, People's Bank of Wellston and Jackson	\$67.57	\$2,500.00	Judge Justin W. Skaggs \$15.00, Marvin's Gardens \$50.00, Philip and Danielle Malone \$10.00, Taylor Excavating \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 36 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
118	Shephard, Madison	Oak Hill FFA	Last Year, Overall Showman	Market Turkey	033	25.00		WesBanco	\$24.00	\$600.00	Animals Unlimited Veterinary Hospital \$5.00, Jim & Dennefer Tribby \$100.00, Judge Justin W. Skaggs \$15.00, Legends Pit Stop \$25.00
119	Brown, Braydon	Hayseeds	3rd Overall	Market Turkey	015	46.00		JVC Metals	\$9.78	\$450.00	Adena Health Systems \$50.00, Judge Justin W. Skaggs \$15.00, Oak Hill Auto Sales \$100.00
120	McManis, Karmen	Bloomfield All Stars	4th Overall	Market Turkey	008	27.00		AK Ready Mix	\$18.52	\$500.00	AK Ready Mix \$500.00, Animals Unlimited Veterinary Hospital \$5.00, Chew's Hauling \$50.00, Circle M Meats \$25.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 37 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
121	Causey, Jordan	Highlanders	5th Overall	Market Turkey	010	35.00		Atomic Credit Union, Josh Speakman, Nationwide Insurance/V irgil Hamilton	\$15.71	\$550.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Judge Justin W. Skaggs \$15.00, Nea Henry, Agent for Appalachia Realty \$200.00
122	Brown, Addison	Hayseeds	6th Overall	Market Turkey	036	44.00		Precious stone honey and supply	\$10.23	\$450.00	Adena Health Systems \$50.00, Atomic Credit Union \$30.00, Good Farms \$25.00, Judge Justin W. Skaggs \$15.00, Oak Hill Auto Sales \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 38 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
123	Brown, Braydon	Hayseeds	7th Overall	Market Turkey	038	47.00		Dick's Carry Out & Drive Thru	\$8.51	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Good Farms \$25.00, Judge Justin W. Skaggs \$15.00
124	Murray, Schuler	Ridge Runners	8th Overall	Market Turkey	005	36.00		Elevate Iv Hydration & Aesthetics	\$15.28	\$550.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00
125	Brown, Addison	Hayseeds	9th Overall	Market Turkey	044	47.00		Dick's Carry Out & Drive Thru	\$8.51	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00

2023-07-31 09:57:59 GMT-05:00 Page 39 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
126	Causey, Harley	Highlanders	10th Overall	Market Turkey	014	37.00		Jackson County Banking Center of Vinton County National Bank	\$10.81	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Judge Justin W. Skaggs \$15.00
127	Wallace, Braydon	Forward Thinkers		Market Turkey	017	25.00		Chris Walls, Southern OH Monument	\$26.00	\$650.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Legends Pit Stop \$25.00
128	Shepherd, Robert	Forward Thinkers		Market Turkey	043	22.00		People's Bank of Wellston and Jackson	\$22.73	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Legends Pit Stop \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 40 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
129	Murray, Tressel	Ridge Runners		Market Turkey	003	37.00		Earl & Ruth Ann Lemaster	\$14.87	\$550.00	Animals Unlimited Veterinary Hospital \$5.00, Judge Justin W. Skaggs \$15.00, Marvin's Gardens \$50.00, Miller's Builders, Bob Miller \$50.00, Philip and Danielle Malone \$10.00, Taylor Excavating \$100.00
130	McIntosh, Laira	Corn Fed Crew	Grand Champion	Market Ducks	10	13.65		AK Energy	\$402.93	\$5,500.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 41 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
131	Criner, Ethan	Forward Thinkers	Donor, Reserve Champion	Market Ducks	19	11.05		Coalton Volunteer FD, Donnie Willis, Jackson County Commission er, Jackson County Banking Center of Vinton County National Bank, Randy Evans Constructio n	\$162.90	\$1,800.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
132	Brown, Braydon	Hayseeds	3rd Overall	Market Ducks	4	9.10			\$0.00	\$0.00	Animals Unlimited Veterinary Hospital \$5.00
133	Gentry, Piper	Ridge Runners	Donor, 4th Overall	Market Ducks	27	7.95		DQ Wellston	\$50.31	\$400.00	Animals Unlimited Veterinary Hospital \$5.00, Appalachia Realty \$50.00, Circle M Meats \$25.00, Genevieve Davis, DVM \$60.00

2023-07-31 09:57:59 GMT-05:00 Page 42 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
134	Gentry, Samuel	Ridge Runners	Donor, 5th Overall	Market Ducks	28	10.20		Southern OH Monument	\$51.47	\$525.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Cozy Glenn Firearms \$25.00, Genevieve Davis, DVM \$60.00
135	Brown, Braydon	Hayseeds	6th Overall	Market Ducks	6	9.60			\$0.00	\$0.00	Animals Unlimited Veterinary Hospital \$5.00
136	Harden, Brinlee	Country	7th Overall	Market Ducks	22	10.10		Lee Saylor Logging	\$51.98	\$525.00	Animals Unlimited Veterinary Hospital \$5.00, L&L Scrap Metals Recycling, Inc. \$25.00, Nationwide Insurance/V irgil Hamilton \$50.00, Philip and Danielle Malone \$10.00
137	Montgomer y, Piper	Too Hot Too Trot	9th Overall	Market Ducks	37	11.60		Judge Mark Musick	\$40.95	\$475.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 43 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
138	Newkirk, Saydie	Ridge Runners	Donor, 10th Overall	Market Ducks	35	8.10		Ohio Valley Bank	\$58.64	\$475.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Ed and Linda Scurlock \$50.00, Marvin's Gardens \$100.00, Taylor Excavating \$50.00
139	Woods, Annabella	Irish Hollow Kids		Market Ducks	47	9.80		Janice Tiller	\$51.02	\$500.00	Animals Unlimited Veterinary Hospital \$5.00
140	Ross, Katie- Alaine	Totally Awesome Kids		Market Ducks	2	8.50		Southern OH Monument	\$61.77	\$525.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Richard L. Bishop Jr. \$300.00

2023-07-31 09:57:59 GMT-05:00 Page 44 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
141	Hebert, Jaeda	Ridge Runners	Donor	Market Ducks	50	9.75		David R Dilley CPA	\$43.59	\$425.00	Animals Unlimited Veterinary Hospital \$5.00, Appalachia Realty \$50.00, Philip and Danielle Malone \$10.00
142	Kieffer, Brayden	Forward Thinkers	Donor	Market Ducks	38	8.25		Meadows Law Office	\$57.58	\$475.00	Animals Unlimited Veterinary Hospital \$5.00
143	Brennan, Averie	Country Classics	Donor	Market Ducks	24	11.20		GEM Beverages Inc., Holzapfel Family Clinic	\$60.27	\$675.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00
144	Hopper, Izabella	Corn Fed Crew	Donor	Market Ducks	007	9.80		J & J Farms	\$51.02	\$500.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Circle M Meats \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 45 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
145	Kieffer, Heather	Forward Thinkers	Donor	Market Ducks	39	8.50		Holzer Health System	\$44.12	\$375.00	Animals Unlimited Veterinary Hospital \$5.00, Dan and Terri Bennett \$25.00
146	Moore, Parker	Hayseeds		Market Ducks	43	9.50		Geiger Brothers	\$68.42	\$650.00	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00, Levi Matthews \$100.00, Nationwide Insurance/V irgil Hamilton \$50.00, Taylor Family Farm \$50.00
147	Murphy, Sullivan	Country Classics	Donor, Grand Champion	Market Swine	39	271.00	\$113.28	Piggly Wiggly of Oak Hill, Piggly Wiggly of Wellston	\$16.00	\$4,336.00	Genevieve Davis, DVM \$60.00, Jackson Ag Service \$50.00, Taylor Excavating \$50.00
148	Malone, Bryce	Highlanders	Last Year, Reserve Champion	Market Swine	14	261.00	\$109.10	Mark Porter Ford	\$16.00	\$4,176.00	Animals Unlimited Veterinary Hospital \$5.00, David R Dilley CPA \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 46 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
149	Newsome, Sabrina	Country Super Stars	Last Year, Top County Bred	Market Swine	15	252.00	\$105.34	Jackson Co. Republican Party	\$10.25	\$2,583.00	Animals Unlimited Veterinary Hospital \$5.00
150	Pariseau, Nephi	Forward Thinkers	Runner Up Top County Bred	Market Swine	35	235.00	\$98.23	Ricer Equipment	\$6.75	\$1,586.25	Adena Health Systems \$50.00, Circle M Meats \$25.00, J & M Farms Feed and Supply \$50.00, Jackson Ag Service \$50.00
151	Murphy, Sullivan	Country Classics	Donor, 3rd Overall	Market Swine	38	251.00	\$104.92	Hill Top Farms/ Family Show Cattle	\$7.00	\$1,757.00	Animals Unlimited Veterinary Hospital \$5.00
152	Mullens, Marissa	Country Super Stars	4th Overall	Market Swine	10	234.00	\$97.81	Bren Mar Constructio n	\$4.00	\$936.00	Adena Health Systems \$50.00, Atomic Credit Union \$30.00, New Roachie Farm \$50.00
153	Carper, McKenlee	Barnyard Rascals	5th Overall	Market Swine	35515	268.00	\$112.02	JT Enviro	\$4.00	\$1,072.00	Adena Health Systems \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 47 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
154	Swackham mer, Jordan	Country Classics	Donor, Overall Showman, 6th Overall	Market Swine	525	265.00	\$110.77	Randy Evans Constructio n, Sheward- Fulks Insurance	\$5.75	\$1,523.75	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
155	Swackham mer, Jayden	Country	Donor, 7th Overall	Market Swine	526	261.00	\$109.10	Bren Mar Constructio n, Jones Stephenson Insurance	\$5.00	\$1,305.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Sheward- Fulks Insurance \$50.00
156	Dailey, Addyson	Country Critters	Donor, 8th Overall	Market Swine	30	264.00	\$110.35	Ohio Valley Bank	\$4.00	\$1,056.00	Jackson Ag Service \$50.00
157	Mullens, Marissa	Country Super Stars	9th Overall	Market Swine	9	222.00	\$92.80	Yauger Farm Supply Inc.	\$3.75	\$832.50	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 48 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
158	Osborne, Spencer	Country Classics	10th Overall	Market Swine	522	278.00	\$116.20	Brian Moore Constructio n	\$5.25	\$1,459.50	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Jones Stephenson Insurance \$100.00, Lewis Insurance Agency \$100.00
159	Gamble, Catilin	Moonshine		Market Swine	508	277.00	\$115.79	J C Wood Products	\$5.00	\$1,385.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, OSCO Charity Fund \$100.00
160	Collins, Nolan	Highlanders	Donor	Market Swine	35519	242.00	\$101.16	Arch and Eddie's, Putts Plumbing	\$6.00	\$1,452.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00
161	Mullens, Lester	Country Super Stars		Market Swine	11	237.00	\$99.07	Gas N Stuff	\$4.00	\$948.00	Animals Unlimited Veterinary Hospital \$5.00, New Roachie Farm \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 49 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
162	Dailey, Brady	Country Critters	Donor	Market Swine	27	222.00	\$92.80	Appalachia Realty, Atomic Credit Union, Nationwide Insurance/V irgil Hamilton	\$4.25	\$943.50	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
163	Morris, Katie	Oak Hill FFA		Market Swine	495	228.00	\$95.30	JT Enviro, Sheward- Fulks Insurance	\$4.75	\$1,083.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00
164	Fannin, Madelyn	Four Mile Farmers		Market Swine	509	274.00	\$114.53	Puryear Tank Lines	\$5.75	\$1,575.50	Animals Unlimited Veterinary Hospital \$5.00, Nationwide Insurance/V irgil Hamilton \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 50 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
165	Barnett, Joseph	Moonshine		Market Swine	499	271.00	\$113.28	Four Mile Farms, LLC, Romar Metal Fabricating Inc.	\$5.00	\$1,355.00	Animals Unlimited Veterinary Hospital \$5.00, Bad Habit Farms \$20.00, Genevieve Davis, DVM \$60.00, Jackson Meats \$100.00, North Wind Dynamics LLC \$250.00, Philip and Danielle Malone \$10.00
166	Barnett, Lance	Moonshine	Last Year	Market Swine	501	244.00	\$101.99	Ricer Equipment	\$5.75	\$1,403.00	Animals Unlimited Veterinary Hospital \$5.00, Bad Habit Farms \$20.00, Genevieve Davis, DVM \$60.00, Jackson Meats \$100.00, North Wind Dynamics LLC \$250.00, Philip and Danielle Malone \$10.00

2023-07-31 09:57:59 GMT-05:00 Page 51 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
167	Biggs, Kynlee	Highlanders		Market Swine	25	227.00	\$94.89	DMZ Autosales	\$5.25	\$1,191.75	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, OSCO Charity Fund \$1,191.75
168	Deck, Michael	Moonshine		Market Swine	507	264.00	\$110.35	Levi Strickland	\$7.75	\$2,046.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, OSCO Charity Fund \$100.00
169	Pelletier, Rylan	Jackson County Livestock	Donor	Market Swine	502	250.00	\$104.50	Shoemaker Rentals	\$5.75	\$1,437.50	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 52 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
170	Sexton, Jason	Ridge Runners		Market Swine	35512	265.00	\$110.77	Ricer Equipment	\$6.00	\$1,590.00	Animals Unlimited Veterinary Hospital \$5.00, Chew's Hauling \$50.00, Jackson Ag Service \$50.00, Jackson Meats \$100.00, Jones Stephenson Insurance \$100.00, Lewis Insurance Agency \$100.00, Miller's Builders, Bob Miller \$50.00
171	Newsome, Daniel	Country Super Stars		Market Swine	17	246.00	\$102.83	Brian & Lisa Detty, Holzer Health System	\$4.25	\$1,045.50	Animals Unlimited Veterinary Hospital \$5.00, Bridgeport Equipment and Tool \$200.00

2023-07-31 09:57:59 GMT-05:00 Page 53 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
172	Chambers, Quentin	Corn Fed Crew		Market Swine	35485	241.00	\$100.74	Triple B Tobacco Station - Oak Hill	\$4.75	\$1,144.75	Animals Unlimited Veterinary Hospital \$5.00, Philip and Danielle Malone \$10.00, Ryan & Danielle Ashley Foster \$20.00
173	Zinn, Bentley	Forward Thinkers		Market Swine	35521	231.00	\$96.56	Gas N Stuff	\$4.25	\$981.75	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Dan and Terri Bennett \$25.00
174	Sexton, Presley	Country Classics	Last Year, Donor	Market Swine	35523	254.00	\$106.17	Daniel Stewart / Stewart Farm, Stewart Electric	\$5.00	\$1,270.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 54 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
175	Allison, Natalie	Franklin Guys and Gals		Market Swine	40	249.00	\$104.08	Farm On The Ridge	\$4.00	\$996.00	Animals Unlimited Veterinary Hospital \$5.00, Dan and Terri Bennett \$25.00, FLUOR- BWXT Portsmouth \$250.00
176	Oliver, Madden	Four Mile Farmers	Donor	Market Swine	493	252.00	\$105.34	Brandon Oliver, Carman's Used Cars, Geiger Brothers	\$10.00	\$2,520.00	Animals Unlimited Veterinary Hospital \$5.00
177	Chambers, Caleb	Corn Fed Crew		Market Swine	35488	265.00	\$110.77	Dick's Carry Out & Drive Thru	\$6.00	\$1,590.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
178	Webb, Emma	Ridge Runners		Market Swine	491	255.00	\$106.59	Ricer Equipment	\$4.25	\$1,083.75	Animals Unlimited Veterinary Hospital \$5.00
179	Stickley, Savannah	Animal House		Market Swine	77	237.00	\$99.07	J & Samp; M Farms Feed and Supply, Oths, Heiser, Miller, Waigand & Samp; Clagg, LLC	\$4.25	\$1,007.25	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 55 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
180	Carter, Justin	Forward Thinkers	Donor	Market Swine	67	250.00	\$104.50	Jackson VFW Post 8402	\$4.25	\$1,062.50	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
181	Malone, Mason	Country	Donor	Market Swine	35496	244.00	\$101.99	Elevate Iv Hydration & Aesthetics, R & E Excavating	\$5.50	\$1,342.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, L&L Scrap Metals Recycling, Inc. \$25.00, Larry Foster \$25.00, Miller's Builders, Bob Miller \$50.00, Ryan & Description Ryan &
182	Ewing, Curtis	Forward Thinkers		Market Swine	35516	226.00	\$94.47	Just Meats - Retail & Processing, Rumpke Waste, Inc.	\$4.50	\$1,017.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 56 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
183	Saylor, Brenleigh	Corn Fed Crew		Market Swine	481	242.00	\$101.16	Ricer Equipment	\$6.75	\$1,633.50	Animals Unlimited Veterinary Hospital \$5.00, Nationwide Insurance/V irgil Hamilton \$50.00, WesBanco \$25.00
184	Chambers, Chloe	Corn Fed Crew	Last Year	Market Swine	35487	269.00	\$112.44	Saylor Properties	\$6.25	\$1,681.25	Animals Unlimited Veterinary Hospital \$5.00
185	Carter, Shelbie	Forward Thinkers	Donor	Market Swine	7	260.00	\$108.68	Fannin Farms	\$5.25	\$1,365.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
186	Kisor, David	Highlanders	Donor	Market Swine	46	235.00	\$98.23	VFW Post 9092 Wellston	\$5.75	\$1,351.25	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Newsome Family \$75.00, WesBanco \$50.00
187	Simpson, Josie	Too Hot Too Trot		Market Swine	5	260.00	\$108.68	Randy Dupree Jackson County Prosecutor	\$5.50	\$1,430.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 57 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / lb	Bid Price	Add-ons with amounts
188	Simpson, Makayla	Highlanders		Market Swine	3	234.00	\$97.81	Paul Moore	\$6.00	\$1,404.00	Animals Unlimited Veterinary Hospital \$5.00
189	Saylor, Brody	Corn Fed Crew		Market Swine	479	268.00	\$112.02	Ricer Equipment	\$14.75	\$3,953.00	Animals Unlimited Veterinary Hospital \$5.00, Nationwide Insurance/V irgil Hamilton \$50.00, WesBanco \$25.00
190	Farrar, Mady	Country Cardinals	Donor, Grand Champion, Top County Bred	Beef Feeder	199	488.00	\$1,063.84	Coalton Volunteer FD	\$3.75	\$1,830.00	Sheward- Fulks Insurance \$50.00
191	Conaway, Asa	Hayseeds	Runner Up Top County Bred, Reserve Champion	Beef Feeder	194	560.00	\$1,220.80	Jolly Farm	\$3.35	\$1,876.00	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00, Jackson Ag Service \$50.00
192	Wills, Mallori	Forward Thinkers	Rate of Gain	Beef Feeder	192	518.00	\$1,129.24	J & Samp; M Farms Feed and Supply, Oths, Heiser, Waigand & Samp; Clagg, LLC	\$3.50	\$1,813.00	

2023-07-31 09:57:59 GMT-05:00 Page 58 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
193	Farrar, Mady	Country Cardinals	Donor, 3rd Overall	Beef Feeder	198	458.00	\$998.44	Jackson Firefighters Association	\$3.25	\$1,488.50	Animals Unlimited Veterinary Hospital \$5.00
194	Conaway, Natalyn	Hayseeds	5th Overall	Beef Feeder	191	565.00	\$1,231.70	McArthur Lumber and Post, MeMe's Custom Embroidery	\$3.10	\$1,751.50	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00, Jackson Ag Service \$50.00
195	Wills, Mallori	Forward Thinkers	7th Overall	Beef Feeder	193	584.00	\$1,273.12	Kisor Farm	\$2.75	\$1,606.00	Animals Unlimited Veterinary Hospital \$5.00, Spurlock Ag Lime & Description Fertilizer, LLC \$205.00
196	McKenzie, Olivia	Corn Fed Crew	Donor, 9th Overall	Beef Feeder	182	506.00	\$1,103.08	Union Stockyards	\$3.85	\$1,948.10	Bad Habit Farms \$20.00, JVC Metals \$200.00, Nationwide Insurance/V irgil Hamilton \$50.00, Sunrise Cooperative \$150.00, Veolia \$300.00

2023-07-31 09:57:59 GMT-05:00 Page 59 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
197	McNeal, Oliver	Four Mile Farmers	10th Overall	Beef Feeder	188	539.00	\$1,175.02	Sonny Russ Farms, The Downtown Treatery	\$4.10	\$2,209.90	Animals Unlimited Veterinary Hospital \$5.00, JVC Metals \$200.00
198	McKenzie, Colton	Corn Fed Crew	Donor	Beef Feeder	181	480.00	\$1,046.40	DL Martin Trucking LLc, Jeff Dyer Trucking	\$3.75	\$1,800.00	Animals Unlimited Veterinary Hospital \$5.00, FLUOR- BWXT Portsmouth \$250.00, JVC Metals \$200.00, Nationwide Insurance/V irgil Hamilton \$50.00, Sunrise Cooperative \$150.00, Veolia \$300.00
199	Smittle, Brandi	Hayseeds	Donor	Beef Feeder	183	567.00	\$1,236.06	DL Martin Trucking LLc, Jeff Dyer Trucking	\$3.60	\$2,041.20	Animals Unlimited Veterinary Hospital \$5.00, Cozy Glenn Firearms \$25.00, Good Farms \$25.00, Hall Farms \$250.00

2023-07-31 09:57:59 GMT-05:00 Page 60 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
200	French, Skylar	Forward Thinkers		Beef Feeder	195	424.00	\$924.32	Kisor Farm	\$3.60	\$1,526.40	Animals Unlimited Veterinary Hospital \$5.00
201	Davis, Drake	Medallions	Last Year, Donor, Grand Champion	Market Lamb	233	141.00	\$225.60	Southern OH Monument	\$15.00	\$2,115.00	Genevieve Davis, DVM \$60.00, JVC Metals \$200.00, Ryan & Description & Security & Securit
202	Hayburn, Brianna	Barnyard Rascals	Last Year, Reserve Champion	Market Lamb	104	135.00	\$216.00	Mike's Gun Shop, Southern OH Monument	\$19.00	\$2,565.00	Circle M Meats \$50.00
203	Cooper, Abygail	Highlanders	Top County Bred	Market Lamb	99	124.00	\$198.40	Coalton Volunteer FD	\$7.50	\$930.00	Animals Unlimited Veterinary Hospital \$5.00
204	Pariseau, Nephi	Forward Thinkers	Rate of Gain, Runner Up Top County Bred	Market Lamb	230	123.00	\$196.80	Frazier Farms- Tedd & Alice Frazier	\$7.00	\$861.00	Animals Unlimited Veterinary Hospital \$5.00
205	Callahan, Cole	Ridge Runners	Donor, 3rd Overall	Market Lamb	97	123.00	\$196.80	DL Martin Trucking LLc, Jeff Dyer Trucking	\$6.50	\$799.50	Circle M Meats \$50.00, Genevieve Davis, DVM \$60.00, Nationwide Insurance/V irgil Hamilton \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 61 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
206	Lewis, Madi	Moonshine	Last Year, 4th Overall	Market Lamb	256	133.00	\$212.80	L&L Scrap Metals Recycling, Inc.	\$7.00	\$931.00	Animals Unlimited Veterinary Hospital \$5.00, Bridgeport Equipment and Tool \$200.00, Jackson Ag Service \$50.00, Ohio Valley Bank \$35.00
207	Zornes, Alyssa	Oak Hill FFA	5th Overall	Market Lamb	425	139.00	\$222.40	OSCO Charity Fund	\$6.50	\$903.50	
208	Blevins, Hunter	Jimes Buckeyes	6th Overall	Market Lamb	291	144.00	\$230.40	Just Meats - Retail & Description & Retail	\$6.00	\$864.00	Philip and Danielle Malone \$10.00
209	Farrar, Reagan	Country Cardinals	7th Overall	Market Lamb	107	136.00	\$217.60	Chris Walls, Rising Creek Farm	\$6.00	\$816.00	Bridgeport Equipment and Tool \$200.00, Sheward- Fulks Insurance \$50.00
210	Blevins, Hunter	Jimes Buckeyes	8th Overall	Market Lamb	292	127.00	\$203.20	Paula Stewart Oak Hill School Board	\$6.00	\$762.00	Animals Unlimited Veterinary Hospital \$5.00
211	Davis, Drake	Medallions	Last Year, Donor, 9th Overall	Market Lamb	232	110.00	\$176.00	DKM Constructio n	\$15.00	\$1,650.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 62 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
212	McKenzie, Olivia	Corn Fed Crew	10th Overall	Market Lamb	235	115.00	\$184.00	JVC Metals	\$6.00	\$690.00	Animals Unlimited Veterinary Hospital \$5.00, FLUOR- BWXT Portsmouth \$250.00
213	Fannin, Ashton	Four Mile Farmers		Market Lamb	108	132.00	\$211.20	Russ Farm Equipment	\$6.50	\$858.00	Animals Unlimited Veterinary Hospital \$5.00
214	Ruby, Mason	Hayseeds	Donor	Market Lamb	93	137.00	\$219.20	Chris Walls, D.T.W. Heating and Cooling LLC., Rising Creek Farm, Southern OH Monument	\$9.50	\$1,301.50	Animals Unlimited Veterinary Hospital \$5.00, Cozy Glenn Firearms \$50.00, Good Farms \$25.00, Legends Pit Stop \$25.00, Veolia \$100.00, WesBanco \$50.00
215	Ewing, Macie	Forward Thinkers		Market Lamb	100	117.00	\$187.20	Just Meats - Retail & Processing, Montgomer y Machine & Fabrication	\$6.00	\$702.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 63 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
216	Cooper, Max	Highlanders		Market Lamb	98	135.00	\$216.00	Leedy Angus Farms	\$5.00	\$675.00	Animals Unlimited Veterinary Hospital \$5.00
217	Hughes, William	Animal House	Donor	Market Lamb	92	118.00	\$188.80	Just Meats - Retail & Processing	\$5.50	\$649.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Nea Henry, Agent for Appalachia Realty \$200.00
218	Wyant, Rylan	Ridge Runners		Market Lamb	228	127.00	\$203.20	Dr. Marla and Paul Haller, Jackson Co. Comm., Ohio Valley Bank, Wyant & Sons	\$8.50	\$1,079.50	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Legends Pit Stop \$25.00, Sheward- Fulks Insurance \$50.00, Steve and Tammy Lorbach \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 64 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
219	Sheeter, Tyrus	Ridge Runners		Market Lamb	96	136.00	\$217.60	Russ Farm Equipment	\$6.50	\$884.00	Animals Unlimited Veterinary Hospital \$5.00, Audrianna Thornhill & Dono Thornhill \$100.00, Jackson Ag Service \$50.00, Marvin's Gardens \$100.00, Nationwide Insurance/V irgil Hamilton \$50.00
220	Hill, Carson	Ridge Runners	Donor	Market Lamb	109	142.00	\$227.20	Frazier Farms- Tedd & Alice Frazier	\$8.00	\$1,136.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Mark Porter Ford \$100.00, Nea Henry, Agent for Appalachia Realty \$200.00, Ohio Valley Bank \$35.00, Sheward- Fulks Insurance \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 65 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
221	Armstrong, Jonah	Medallions	Donor	Market Lamb	111	138.00	\$220.80	Jackson Storage	\$9.00	\$1,242.00	Animals Unlimited Veterinary Hospital \$5.00, Nationwide Insurance/V irgil Hamilton \$50.00
222	Stumbo, Sadie	Medallions	Donor	Market Lamb	295	142.00	\$227.20	Just Meats - Retail & Processing	\$5.00	\$710.00	Animals Unlimited Veterinary Hospital \$5.00, Serenity Farms \$25.00
223	Folden, Tayla	Ridge Runners		Market Lamb	88	113.00	\$180.80	Just Meats - Retail & Processing	\$5.00	\$565.00	Animals Unlimited Veterinary Hospital \$5.00, Ohio Valley Bank \$50.00
224	Hughes, Elizabeth	Animal House	Last Year, Donor	Market Lamb	91	133.00	\$212.80	Brandon Oliver, Carman's Used Cars	\$6.25	\$831.25	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Nea Henry, Agent for Appalachia Realty \$200.00

2023-07-31 09:57:59 GMT-05:00 Page 66 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
225	Bixler , Joey	Ridge Runners		Market Lamb	427	141.00	\$225.60	Just Meats - Retail & Processing	\$5.00	\$705.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Jackson Ag Service \$100.00, Jackson Storage \$100.00, Marvin's Gardens \$50.00, Miller's Builders, Bob Miller \$50.00, WesBanco \$50.00
226	Simpson, Mya	Too Hot Too Trot	Donor	Market Lamb	112	130.00	\$208.00	Newsom Equipment Rentals Ilc	\$4.50	\$585.00	Animals Unlimited Veterinary Hospital \$5.00
227	Norman, Bentley	Forward Thinkers		Market Lamb	102	135.00	\$216.00	Just Meats - Retail & Processing	\$4.50	\$607.50	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 67 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
228	Lyons, Bralee	Moonshine	Donor, Grand Champion	Market Goat	169	81.00	\$229.23	DKM Constructio n, Little Horns Cattle Ranch	\$21.00	\$1,701.00	Animals Unlimited Veterinary Hospital \$5.00, Geiger Brothers \$500.00, Nationwide Insurance/V irgil Hamilton \$50.00
229	Callahan, Grace	Ridge Runners	Donor, Reserve Champion	Market Goat	208	74.00	\$209.42	Dr. Marla and Paul Haller, Jackson Co. Comm., Ohio Valley Bank	\$15.00	\$1,110.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Genevieve Davis, DVM \$60.00
230	House, Hadly	Jimes Buckeyes	Donor, Top County Bred, 3rd Overall	Market Goat	180	82.00	\$232.06	Diamond J Ranch & Rodeo	\$11.50	\$943.00	Animals Unlimited Veterinary Hospital \$5.00, Cozy Glenn Firearms \$25.00, New Roachie Farm \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 68 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
231	Roach, Jade	Country Classics	Runner Up Top County Bred, 4th Overall	Market Goat	176	86.00	\$243.38	DKM Constructio n	\$14.00	\$1,204.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Circle M Meats \$50.00, Genevieve Davis, DVM \$60.00, Legends Pit Stop \$25.00, Pike Water, Inc. \$500.00
232	Zachariah, Jesse	Jimes Buckeyes	Rate of Gain	Market Goat	206	90.00	\$254.70	Daniel Stewart / Stewart Farm, Stewart Electric	\$9.75	\$877.50	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Marvin's Gardens \$50.00
233	Davis, Coen	Moonshine	Donor, 6th Overall	Market Goat	171	94.00	\$266.02	Geiger Brothers	\$9.00	\$846.00	
234	Zornes, Alyssa	Oak Hill FFA	7th Overall	Market Goat	144	90.00	\$254.70	Mike's Gun Shop, Southern OH Monument	\$20.00	\$1,800.00	Animals Unlimited Veterinary Hospital \$5.00, Serenity Farms \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 69 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
235	Davis, Coen	Moonshine	Donor, 8th Overall	Market Goat	172	108.00	\$305.64	Geiger Brothers	\$9.00	\$972.00	Animals Unlimited Veterinary Hospital \$5.00
236	Frisby, Brooklyn	Wellston FFA		Market Goat	200	73.00	\$206.59	Coalton Volunteer FD	\$11.50	\$839.50	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Veolia \$100.00
237	Fulks , Aubree	Moonshine		Market Goat	OH10238	81.00	\$229.23	Geiger Brothers	\$12.50	\$1,012.50	Animals Unlimited Veterinary Hospital \$5.00, Veolia \$300.00
238	Workman, Addison	Barnyard Rascals		Market Goat	255	100.00	\$283.00	Holzer Health System	\$9.50	\$950.00	Animals Unlimited Veterinary Hospital \$5.00
239	Byler , Ella	Country Classics		Market Goat	194	64.00	\$181.12	Bren Mar Constructio n, Jerry's Do It Center	\$15.00	\$960.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00

2023-07-31 09:57:59 GMT-05:00 Page 70 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
240	Creech, Mason	Animal House		Market Goat	198	75.00	\$212.25	Trisch Const	\$10.50	\$787.50	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Legends Pit Stop \$25.00
241	Nelson, Case	Corn Fed Crew		Market Goat	213	85.00	\$240.55	JVC Metals	\$10.00	\$850.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$200.00, Melinda Blaney \$25.00, Paul R Hutchins Surveying Services \$100.00, Taylor Excavating \$100.00
242	Blakeman, Wyatt	Corn Fed Crew	Donor	Market Goat	156	60.00	\$169.80	Honey Bunches Of Goats/Steve Metzler	\$10.00	\$600.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 71 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
243	Nelson, Boone	Corn Fed Crew		Market Goat	211	88.00	\$249.04	Brian & Lisa Detty, Holzer Health System	\$11.00	\$968.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$200.00, Melinda Blaney \$25.00, Paul R Hutchins Surveying Services \$100.00, Philip and Danielle Malone \$10.00, Taylor Excavating \$100.00
244	Marhoover, Grayson	Ridge Runners		Market Goat	178	80.00	\$226.40	Feed Stop LLC, Frazier Farms- Tedd & Alice Frazier	\$15.00	\$1,200.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Marvin's Gardens \$50.00, Miller's Builders, Bob Miller \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 72 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
245	Pollock, Hannah	Ridge Runners		Market Goat	226	81.00	\$229.23	McNeal Farms, Russ Farms	\$6.50	\$526.50	Animals Unlimited Veterinary Hospital \$5.00, Miller's Builders, Bob Miller \$50.00
246	Ross, Haley	Barn Bunch	Donor	Market Goat	220	69.00	\$195.27	#1 Buckeye Lawn & Landscapes LLC	\$6.00	\$414.00	Animals Unlimited Veterinary Hospital \$5.00, Jones Stephenson Insurance \$200.00, Miller's Builders, Bob Miller \$50.00
247	Bowman, Charles	Ridge Runners	Donor	Market Goat	205	106.00	\$299.98	OSCO Industries	\$12.50	\$1,325.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Marvin's Gardens \$100.00
248	Stickley, Brynlee	Jimes Buckeyes		Market Goat	249	60.00	\$169.80	Todd and Jessica Blevins	\$12.25	\$735.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 73 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
249	Smalley, Coleson	Corn Fed Crew	Donor	Market Goat	190	89.00	\$251.87	Four Mile Farms, LLC	\$10.00	\$890.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Nea Henry, Agent for Appalachia Realty \$200.00, Sheward- Fulks Insurance \$50.00, Taylor Excavating \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 74 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
250	Fannin, Mason	Ridge Runners	Donor	Market Goat	215	88.00	\$249.04	Plum Rd Cattle	\$13.75	\$1,210.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Bridgeport Equipment and Tool \$200.00, David R Dilley CPA \$100.00, Emmit Signs \$200.00, Jackson Ag Service \$50.00, Just Meats - Retail & Processing \$200.00, Marvin's Gardens \$50.00, Ohio Valley Bank \$35.00

2023-07-31 09:57:59 GMT-05:00 Page 75 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
251	Nelson, Evie	Corn Fed Crew		Market Goat	212	82.00	\$232.06	L&L Scrap Metals Recycling, Inc.	\$10.00	\$820.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$200.00, Melinda Blaney \$25.00, Paul R Hutchins Surveying Services \$100.00, Taylor Excavating \$100.00
252	Sparks, Kyler	Barnyard Rascals		Market Goat	161	66.00	\$186.78	Mark Porter Ford	\$13.00	\$858.00	Cozy Glenn Firearms \$25.00
253	Carl, Maddox	Corn Fed Crew		Market Goat	184	92.00	\$260.36	Holzer Health System	\$9.00	\$828.00	Animals Unlimited Veterinary Hospital \$5.00, Marvin's Gardens \$100.00, Sunshine Hill Farm \$25.00
254	Fox, Atwood	Ridge Runners	Donor	Market Goat	294	107.00	\$302.81	DL Martin Trucking LLc, Jeff Dyer Trucking	\$7.00	\$749.00	Animals Unlimited Veterinary Hospital \$5.00
255	McFann, Ella	Jimes Buckeyes	Donor	Market Goat	248	82.00	\$232.06	Honey Bunches Of Goats/Steve Metzler	\$8.75	\$717.50	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 76 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
256	Muncy, Kamryn	Four Mile Farmers		Market Goat	165	107.00	\$302.81	Holzer Health System	\$8.00	\$856.00	Animals Unlimited Veterinary Hospital \$5.00
257	Mullins, Kelson	Barnyard Rascals	Donor	Market Goat	196	60.00	\$169.80	Trisch Const	\$8.25	\$495.00	Animals Unlimited Veterinary Hospital \$5.00, Caudill Chipping \$100.00, WesBanco \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 77 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
258	Foster, Weston	Medallions	Donor	Market Goat	147	78.00	\$220.74	Brian & Detty, Coalton Volunteer FD, Frazier Farms- Tedd & Detty, Alice Frazier, Jackson County Banking Center of Vinton County National Bank, Jackson Firefighters Association, Madison Jefferson FD, Ohio Valley Bank, Southern OH Monument	\$43.75	\$3,412.50	Animals Unlimited Veterinary Hospital \$5.00, Diamond J Ranch & amp; Rodeo \$100.00, Jones Stephenson Insurance \$300.00, L& amp;J Parker Farms \$200.00, Larry Foster \$120.00, Marvin's Gardens \$50.00, Paul R Hutchins Surveying Services \$100.00, Philip and Danielle Malone \$10.00, Sunshine Hill Farm \$25.00, WesBanco \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 78 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
259	Fulkerson, Trevor	Franklin Guys and Gals	Donor	Market Goat	175	89.00	\$251.87	Nimco Propane	\$11.50	\$1,023.50	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, FLUOR- BWXT Portsmouth \$250.00, Jackson Ag Service \$50.00, Ohio Valley Bank \$35.00, Randy & Candice Kennedy \$100.00, Sheward- Fulks Insurance \$50.00, Taylor Excavating \$50.00
260	Dennis, JohnPaul	Corn Fed Crew		Market Goat	245	69.00	\$195.27	DL Martin Trucking LLc, Jeff Dyer Trucking	\$7.00	\$483.00	Animals Unlimited Veterinary Hospital \$5.00
261	Bennett, McKenzie	Franklin Guys and Gals	Donor	Market Goat	192	60.00	\$169.80	Fannin Farms	\$10.00	\$600.00	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 79 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
262	Lester, Clayton	Country Classics	Donor	Market Goat	173	84.00	\$237.72	DL Martin Trucking LLc, Jeff Dyer Trucking	\$11.50	\$966.00	Animals Unlimited Veterinary Hospital \$5.00, L&L Scrap Metals Recycling, Inc. \$50.00, Nelson Hilltop Miniature Donkeys \$100.00, Philip and Danielle Malone \$10.00
263	Davis, Bristol	Ridge Runners		Market Goat	224	61.00	\$172.63	Holzer Health System	\$10.25	\$625.25	Animals Unlimited Veterinary Hospital \$5.00, Marvin's Gardens \$100.00
264	Marcum, Garison	Corn Fed Crew	Donor	Market Goat	216	91.00	\$257.53	Jenkins Care Community	\$15.00	\$1,365.00	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00
265	Carl, Gabryella	Corn Fed Crew		Market Goat	185	95.00	\$268.85	JVC Metals	\$7.50	\$712.50	Animals Unlimited Veterinary Hospital \$5.00, Marvin's Gardens \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 80 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
266	Curtis, Parker	Barnyard Rascals		Market Goat	153	90.00	\$254.70	Brian Moore Constructio n	\$21.00	\$1,890.00	Animals Unlimited Veterinary Hospital \$5.00, Brian Moore Constructio n \$610.00, Circle M Meats \$25.00, WesBanco \$50.00
267	Shaw, Joseph	Hayseeds	Last Year, Donor	Market Goat	141	66.00	\$186.78	Daniel Stewart / Stewart Farm	\$8.00	\$528.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Cozy Glenn Firearms \$50.00, Jones Stephenson Insurance \$75.00, Lewis Insurance Agency \$75.00, Ohio Valley Bank \$35.00, Taylor Family Farm \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 81 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
268	McKenzie, Haden	Moonshine		Market Goat	236	74.00	\$209.42	Geiger Brothers	\$10.00	\$740.00	Animals Unlimited Veterinary Hospital \$5.00, Appalachia Realty \$200.00, Veolia \$300.00
269	Stapleton, Jonah	Country Classics	Donor	Market Goat	152	77.00	\$217.91	L&L Scrap Metals Recycling, Inc., McNeal Farms	\$9.25	\$712.25	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00
270	Simpson, Gracie	Wellston FFA		Market Goat	240	60.00	\$169.80	DL Martin Trucking LLc, Jeff Dyer Trucking	\$8.25	\$495.00	Animals Unlimited Veterinary Hospital \$5.00, DL Martin Trucking LLc \$52.50, Jeff Dyer Trucking \$52.50
271	Mullins, Karson	Barnyard Rascals	Donor	Market Goat	201	60.00	\$169.80	Trisch Const	\$9.50	\$570.00	Animals Unlimited Veterinary Hospital \$5.00, Caudill Chipping \$100.00, WesBanco \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 82 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
272	Smalley, Corbyn	Corn Fed Crew	Donor	Market Goat	188	90.00	\$254.70	Armstrong Ag Supply, LLC	\$8.75	\$787.50	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Nea Henry, Agent for Appalachia Realty \$200.00, Sheward- Fulks Insurance \$50.00, Taylor Excavating \$100.00
273	Metzler, Kynnedy	Jimes Buckeyes	Donor	Market Goat	241	67.00	\$189.61	Holzer Health System	\$10.25	\$686.75	Animals Unlimited Veterinary Hospital \$5.00, Holzer Health System \$118.00
274	Mercer, Maddie	Ridge Runners		Market Goat	155	72.00	\$203.76	Chad and Samantha Russ, Jackson Meats, Michael Sheeter Quail Meadow Farm	\$8.25	\$594.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$100.00, Legends Pit Stop \$25.00, New Roachie Farm \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 83 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
275	Fisher, Abby	Country Critters	Donor	Market Goat	247	93.00	\$263.19	Kali's Pizza	\$11.00	\$1,023.00	Animals Unlimited Veterinary Hospital \$5.00
276	Sparks, Piper	Barnyard Rascals		Market Goat	158	60.00	\$169.80	Caudill Chipping	\$10.50	\$630.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Cozy Glenn Firearms \$25.00, Mark Porter Chrysler Dodge Jeep Ram \$200.00

2023-07-31 09:57:59 GMT-05:00 Page 84 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
277	Shaw, Lillian	Hayseeds		Market Goat	142	62.00	\$175.46	AMP Farms	\$10.00	\$620.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Cozy Glenn Firearms \$50.00, Jones Stephenson Insurance \$75.00, Lewis Insurance Agency \$75.00, Ohio Valley Bank \$35.00, Taylor Family Farm \$25.00
278	Sparks, Kyler	Barnyard Rascals		Market Goat			\$0.00		\$0.00	\$0.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00

2023-07-31 09:57:59 GMT-05:00 Page 85 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
279	Smalley, Brynlee	Corn Fed Crew	Donor, Grand Champion	Dairy Beef Feeder	189	680.00	\$890.80	Bren Mar Constructio n, Four Mile Farms, LLC, Jones Stephenson Insurance, Newsom Equipment Rentals Ilc, Warranty Title Agency	\$5.75	\$3,910.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, Nea Henry, Agent for Appalachia Realty \$200.00, Sheward- Fulks Insurance \$50.00, Taylor Excavating \$100.00
280	Gentry, Ivy	Ridge Runners	Last Year, Donor, Overall Showman, Reserve Champion	Dairy Beef Feeder	145	571.00	\$748.01	Circle M Meats	\$2.75	\$1,570.25	Genevieve Davis, DVM \$60.00
281	Remy, Mackenzie	Corn Fed Crew	Rate of Gain, 4th Overall	Dairy Beef Feeder	148	543.00	\$711.33	Circle M Meats	\$2.75	\$1,493.25	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00
282	Dailey, Addyson	Country Critters	Donor, 5th Overall	Dairy Beef Feeder	201	621.00	\$813.51	Feed Stop LLC	\$2.10	\$1,304.10	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 86 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
283	Dulaney, Olivia	Country Critters	6th Overall	Dairy Beef Feeder	157	432.00	\$565.92	Larry Johnson	\$2.50	\$1,080.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
284	Gentry, Ivy	Ridge Runners	Last Year, Donor, 7th Overall	Dairy Beef Feeder	146	647.00	\$847.57	OSCO Industries	\$2.50	\$1,617.50	Animals Unlimited Veterinary Hospital \$5.00
285	Stickley, Bristol	Animal House	8th Overall	Dairy Beef Feeder	179	581.00	\$761.11	McNeal Farms, Russ Farms	\$2.00	\$1,162.00	Animals Unlimited Veterinary Hospital \$5.00
286	Skaggs, Haylee	Oak Hill FFA	Donor, 9th Overall	Dairy Beef Feeder	161	535.00	\$700.85	T. Hall Trucking Llc and Jackson Lake Campgroun d	\$2.00	\$1,070.00	Animals Unlimited Veterinary Hospital \$5.00, Nea Henry, Agent for Appalachia Realty \$200.00

2023-07-31 09:57:59 GMT-05:00 Page 87 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
287	Parker, Lainey	Animal House	10th Overall	Dairy Beef Feeder	185	502.00	\$657.62	Diamond J Ranch & Diamon Rodeo, Madison Jefferson FD	\$2.25	\$1,129.50	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Audrianna Thornhill & John Thornhill \$25.00, Philip and Danielle Malone \$10.00, Sheward- Fulks Insurance \$50.00
288	Barnett, Ali	Country Critters		Dairy Beef Feeder	156	509.00	\$666.79	Mark Porter Ford	\$2.50	\$1,272.50	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 88 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
289	Brown, Colt	Hayseeds		Dairy Beef Feeder	176	416.00	\$544.96	Diamond J Ranch & Diamp; Rodeo, Madison Jefferson FD	\$2.00	\$832.00	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Good Farms \$25.00, Oak Hill Auto Sales \$100.00
290	Dulaney, Addison	Country Critters		Dairy Beef Feeder	151	532.00	\$696.92	Chad and Samantha Russ, Jackson Meats	\$2.00	\$1,064.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
291	Messer, Jessica	Country Critters		Dairy Beef Feeder	155	482.00	\$631.42	Larry Johnson	\$2.00	\$964.00	Animals Unlimited Veterinary Hospital \$5.00, Daniel Stewart / Stewart Farm \$100.00, Jackson Ag Service \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 89 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
292	Greene, Sadie	Country Cardinals		Dairy Beef Feeder	169	578.00	\$757.18	Romar Metal Fabricating Inc.	\$2.25	\$1,300.50	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Genevieve Davis, DVM \$60.00
293	McElfresh, Madison	Corn Fed Crew		Dairy Beef Feeder	173	555.00	\$727.05	Carman's Used Cars	\$2.00	\$1,110.00	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00
294	Dean, Jerzey	Animal House		Dairy Beef Feeder	154	557.00	\$729.67	Circle M Meats	\$2.10	\$1,169.70	Animals Unlimited Veterinary Hospital \$5.00
295	Erwin, Connar	Country Critters		Dairy Beef Feeder	152	486.00	\$636.66	Chad and Samantha Russ, Jackson Meats	\$2.10	\$1,020.60	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
296	Adkins, Kenna	Animal House		Dairy Beef Feeder	160	698.00	\$914.38	Kali's Pizza	\$2.35	\$1,640.30	Animals Unlimited Veterinary Hospital \$5.00

2023-07-31 09:57:59 GMT-05:00 Page 90 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
297	Parker, Jase	Animal House		Dairy Beef Feeder	184	617.00	\$808.27	Diamond J Ranch & Diamon; Rodeo, Madison Jefferson FD, Rising Creek Farm	\$2.50	\$1,542.50	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Audrianna Thornhill & John Thornhill \$25.00, Sheward- Fulks Insurance \$50.00
298	Erwin, Chace	Country Critters		Dairy Beef Feeder	153	471.00	\$617.01	Larry Johnson	\$2.35	\$1,106.85	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00
299	Adkins, Kason	Animal House	Donor	Dairy Beef Feeder	158	542.00	\$710.02	Russ Farm Equipment	\$2.25	\$1,219.50	Animals Unlimited Veterinary Hospital \$5.00
300	Lundy, Garrett	Animal House	Donor	Dairy Beef Feeder	177	447.00	\$585.57	Russ Farm Equipment	\$2.25	\$1,005.75	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 91 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
301	McElfresh, Mason	Corn Fed Crew		Dairy Beef Feeder	172	535.00	\$700.85	G & L Farms, McNeal Farms, Russ Farms	\$1.85	\$989.75	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00
302	Curtis, Rylee	Barnyard Rascals		Dairy Beef Feeder	196	700.00	\$917.00	LK Saylor Properties	\$2.25	\$1,575.00	Animals Unlimited Veterinary Hospital \$5.00, Audrianna Thornhill & Donn & Samp; John Thornhill \$25.00, Justin and Laura Euton \$100.00, Trisch Const \$50.00
303	Collins, Makenzie	Highlanders	Donor	Dairy Beef Feeder	197	579.00	\$758.49	JVC Metals	\$2.00	\$1,158.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00
304	Willis, Emileigh	Bloomfield All Stars	Donor	Dairy Beef Feeder	166	400.00	\$524.00	Ricer Equipment	\$2.35	\$940.00	Animals Unlimited Veterinary Hospital \$5.00, Chew's Hauling \$50.00

2023-07-31 09:57:59 GMT-05:00 Page 92 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
305	Farrar, Gage	Country Cardinals	Donor, Grand Champion	Dairy Steer	91	1362.00	\$1,838.70	Wilson Excavating	\$5.00	\$6,810.00	Animals Unlimited Veterinary Hospital \$5.00, Ricer Equipment \$100.00, Taylor Family Farm \$50.00, Weatherabl es \$100.00
306	Krannitz, Charissa	Medallions	Donor, Top County Bred, Reserve Champion	Dairy Steer	09	1414.00	\$1,908.90	JVC Metals	\$2.35	\$3,322.90	Animals Unlimited Veterinary Hospital \$5.00, Larry Foster \$20.00, Ricer Equipment \$100.00, Ryan & Daniel Ryan & Daniel Foster \$20.00
307	Krannitz, Haley	Medallions	Donor, Runner Up Top County Bred, 4th Overall	Dairy Steer	10	1489.00	\$2,010.15	Circle M Meats	\$2.00	\$2,978.00	Larry Foster \$20.00, Ricer Equipment \$100.00, Ryan & Ashley Foster \$20.00

2023-07-31 09:57:59 GMT-05:00 Page 93 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
308	Carper, McKenlee	Barnyard Rascals	5th Overall	Dairy Steer	36	1462.00	\$1,973.70	Four Mile Farms, LLC	\$2.25	\$3,289.50	Animals Unlimited Veterinary Hospital \$5.00, Caudill Chipping \$250.00, Ricer Equipment \$100.00
309	Krannitz, Haley	Medallions	Donor, 6th Overall	Dairy Steer	245	1258.00	\$1,698.30	Dick's Carry Out & Drive Thru, Triple B Tobacco Station - Oak Hill	\$2.00	\$2,516.00	Animals Unlimited Veterinary Hospital \$5.00, Larry Foster \$20.00, Ricer Equipment \$100.00
310	Hutchins, Parker	Corn Fed Crew	Grand Champion	Market Beef (Market Steer/Heifer)	116	1419.00	\$2,284.59	College Street Apartments LLC, Fairmont Transport/F airmont Logistics, Romar Metal Fabricating Inc.	\$4.85	\$6,882.15	Atomic Credit Union \$30.00, Larry Foster \$10.00, Ricer Equipment \$100.00, Ryan & Damp; Ashley Foster \$20.00

2023-07-31 09:57:59 GMT-05:00 Page 94 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
311	Hutchins, Cale	Corn Fed Crew	Reserve Champion	Market Beef (Market Steer/Heifer)	117	1364.00	\$2,196.04	Strickland Sales	\$4.00	\$5,456.00	Larry Foster \$10.00, Nea Henry, Agent for Appalachia Realty \$200.00, Philip and Danielle Malone \$10.00, Ricer Equipment \$100.00, Ryan & Equipment \$100.00, Ryan & Equipment \$100.00,
312	Potter, Chloe	Moonshine	Last Year, Top County Bred, 3rd Overall	Market Beef (Market Steer/Heifer)	126	1374.00	\$2,212.14	Daniel Stewart / Stewart Farm, Four Mile Farms, LLC, Kali's Pizza, OSCO Charity Fund, Precious stone honey and supply, Stewart Electric	\$4.00	\$5,496.00	Animals Unlimited Veterinary Hospital \$5.00, Ricer Equipment \$100.00, Sheward- Fulks Insurance \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 95 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
313	Wyant, Ramey	Ridge Runners	Runner Up Top County Bred, Overall Showman, 6th Overall	Market Beef (Market Steer/Heifer)	104	1234.00	\$1,986.74	Mark Porter Chrysler Dodge Jeep Ram	\$3.00	\$3,702.00	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Legends Pit Stop \$25.00, Ohio Valley Bank \$35.00, Ricer Equipment \$100.00, Sheward- Fulks Insurance \$50.00, Steve and Tammy Lorbach \$50.00
314	Callahan, Cole	Ridge Runners	Donor, Rate of Gain	Market Beef (Market Steer/Heifer)	73	1268.00	\$2,041.48	American Legion Post 371 Family	\$2.60	\$3,296.80	Animals Unlimited Veterinary Hospital \$5.00, Ohio Valley Bank \$35.00, Ricer Equipment \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 96 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
315	Spengler, Kaylah	Corn Fed Crew	Carcass Class	Market Beef (Market Steer/Heifer)	138	1116.00	\$1,017.52	Just Meats - Retail & Processing	\$7.25	\$4,582.00	Animals Unlimited Veterinary Hospital \$5.00, Diamond J Ranch & Rodeo \$100.00, Levi Matthews \$100.00, Ricer Equipment \$100.00, TJ Farm Services \$50.00
316	Hutchins, Parker	Corn Fed Crew	4th Overall	Market Beef (Market Steer/Heifer)	118	1362.00	\$2,192.82	Feed Stop LLC	\$2.20	\$2,996.40	Animals Unlimited Veterinary Hospital \$5.00, Ricer Equipment \$100.00
317	Hayburn, Brianna	Barnyard Rascals	Last Year, 5th Overall	Market Beef (Market Steer/Heifer)	63	1248.00	\$2,009.28	Southern OH Monument	\$5.00	\$6,240.00	Animals Unlimited Veterinary Hospital \$5.00, Ricer Equipment \$100.00

2023-07-31 09:57:59 GMT-05:00 Page 97 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
318	Farrar, Reagan	Country Cardinals	7th Overall	Market Beef (Market Steer/Heifer)	90	1272.00	\$2,047.92	Levi Matthews	\$1.80	\$2,289.60	Animals Unlimited Veterinary Hospital \$5.00, Atomic Credit Union \$30.00, Plum Rd Cattle \$254.40, Ricer Equipment \$100.00, Sheward- Fulks Insurance \$50.00
319	Davis, Alexis	Medallions	Donor, 8th Overall	Market Beef (Market Steer/Heifer)	134	1086.00	\$1,748.46	Carman's Used Cars	\$1.90	\$2,063.40	Animals Unlimited Veterinary Hospital \$5.00, Genevieve Davis, DVM \$60.00, JVC Metals \$200.00, McNeal Farms \$108.60, Ricer Equipment \$100.00, Ryan & Company Ryan & Company Foster \$20.00

2023-07-31 09:57:59 GMT-05:00 Page 98 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
320	Hutchins, Cale	Corn Fed Crew	9th Overall	Market Beef (Market Steer/Heifer)	119	1259.00	\$2,026.99	Strickland Sales	\$2.00	\$2,518.00	Animals Unlimited Veterinary Hospital \$5.00, Ricer Equipment \$100.00
321	Johnson, Jenna	Hayseeds	10th Overall	Market Beef (Market Steer/Heifer)	133	1316.00	\$2,118.76	Apple City Artisans / Pinewood Pottery	\$1.80	\$2,368.80	Animals Unlimited Veterinary Hospital \$5.00, Bennett Family Farms \$50.00, Good Farms \$25.00, Jim & Jennefer Tribby \$100.00, Plum Rd Cattle \$263.20, Ricer Equipment \$100.00

2023-07-31 09:58:00 GMT-05:00 Page 99 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
322	Fliehman, Hayden	Country Super Stars	Last Year, Donor	Market Beef (Market Steer/Heifer)	115	1019.00	\$1,640.59	Iron City Pipe / Implement	\$2.20	\$2,241.80	Animals Unlimited Veterinary Hospital \$5.00, Bill and Melissa Griffith \$100.00, Carman's Used Cars \$50.00, Jackson Ag Service \$500.00, Nea Henry, Agent for Appalachia Realty \$200.00, Ohio Valley Bank \$35.00, Ricer Equipment \$100.00, Sunshine Hill Farm \$50.00, United Producers of Gallipolis \$200.00, WesBanco \$50.00

2023-07-31 09:58:00 GMT-05:00 Page 100 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
323	Davidson, Makayla	Hayseeds	Donor	Market Beef (Market Steer/Heifer)	114	1308.00	\$2,105.88	MeMe's Custom Embroidery	\$2.00	\$2,616.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Good Farms \$25.00, Jackson Ag Service \$50.00, Levi Matthews \$50.00, MeMe's Custom Embroidery \$200.00, Ohio Valley Bank \$35.00, Ricer Equipment \$100.00, Taylor Family Farm \$50.00

2023-07-31 09:58:00 GMT-05:00 Page 101 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
324	Shaw, Rebecca	Oak Hill FFA		Market Beef (Market Steer/Heifer)	94	1224.00	\$1,970.64	Circle M Meats, Shoemaker Rentals	\$1.80	\$2,203.20	Animals Unlimited Veterinary Hospital \$5.00, Cozy Glenn Firearms \$50.00, Jones Stephenson Insurance \$75.00, Lewis Insurance Agency \$75.00, McNeal Farms \$244.80, Ricer Equipment \$100.00, Taylor Family Farm \$25.00
325	McNeal, Charles	Four Mile Farmers	Donor	Market Beef (Market Steer/Heifer)	106	1309.00	\$2,107.49	Saylor Properties	\$3.10	\$4,057.90	Animals Unlimited Veterinary Hospital \$5.00, Bridgeport Equipment and Tool \$300.00, Ricer Equipment \$100.00

2023-07-31 09:58:00 GMT-05:00 Page 102 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
326	Johnson, Madison	Oak Hill FFA	Last Year	Market Beef (Market Steer/Heifer)	88	1169.00	\$1,882.09	Newsom Equipment Rentals IIc, Romar Metal Fabricating Inc.	\$2.30	\$2,688.70	Animals Unlimited Veterinary Hospital \$5.00, Bridgeport Equipment and Tool \$300.00, Genevieve Davis, DVM \$60.00, JVC Metals \$200.00, Levi Matthews \$100.00, Ricer Equipment \$100.00, TJ Farm Services \$50.00

2023-07-31 09:58:00 GMT-05:00 Page 103 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
327	Fulkerson, Trinity	Franklin Guys and Gals	Donor	Market Beef (Market Steer/Heifer)	31	1436.00	\$2,311.96	Sheward- Fulks Insurance	\$2.90	\$4,164.40	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, FLUOR- BWXT Portsmouth \$250.00, Jackson Ag Service \$50.00, Ohio Valley Bank \$35.00, Randy & Candice Kennedy \$100.00, Ricer Equipment \$100.00, Taylor Family Farm \$50.00
328	Russ, Lacie	Animal House	Donor	Market Beef (Market Steer/Heifer)	128	1305.00	\$2,101.05	JVC Metals	\$2.20	\$2,871.00	Animals Unlimited Veterinary Hospital \$5.00, G & L Farms \$100.00, Mayer Law L.T.D. \$200.00, Ricer Equipment \$100.00

2023-07-31 09:58:00 GMT-05:00 Page 104 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
329	Cavell, Cyle	Country Super Stars	Donor	Market Beef (Market Steer/Heifer)	98	1016.00	\$1,635.76	Jackson VFW Post 8402	\$3.00	\$3,048.00	Animals Unlimited Veterinary Hospital \$5.00, Bill and Melissa Griffith \$25.00, Ricer Equipment \$100.00
330	Hoyt, Bailey	Corn Fed Crew	Donor	Market Beef (Market Steer/Heifer)	66	1122.00	\$1,806.42	Lee Saylor Logging	\$3.10	\$3,478.20	Animals Unlimited Veterinary Hospital \$5.00, Nationwide Insurance/V irgil Hamilton \$50.00, Ricer Equipment \$100.00, WesBanco \$25.00
331	Cherrington, Colter	Corn Fed Crew	Donor	Market Beef (Market Steer/Heifer)	113	1256.00	\$2,022.16	Nelson Hilltop Miniature Donkeys	\$3.10	\$3,893.60	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Genevieve Davis, DVM \$60.00, Hall Farms \$250.00, Mayer Law L.T.D. \$200.00, Ricer Equipment \$100.00

2023-07-31 09:58:00 GMT-05:00 Page 105 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
332	Hoyt, Zane	Corn Fed Crew	Donor	Market Beef (Market Steer/Heifer)	67	1126.00	\$1,812.86	Lee Saylor Logging	\$2.30	\$2,589.80	Animals Unlimited Veterinary Hospital \$5.00, Lee Saylor Logging \$300.00, Ricer Equipment \$100.00, WesBanco \$25.00
333	Bartels, Clark	Corn Fed Crew	Donor	Market Beef (Market Steer/Heifer)	19	1337.00	\$2,152.57	McNeal Farms	\$2.10	\$2,807.70	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Philip and Danielle Malone \$10.00, Ricer Equipment \$100.00, Ryan & Danielle Standard Ryan & Danielle Standard Ryan & Danielle Malone \$10.00, Ricer Equipment \$100.00, Ryan & Danielle Ralone

2023-07-31 09:58:00 GMT-05:00 Page 106 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
334	Bartels, Clint	Corn Fed Crew	Donor	Market Beef (Market Steer/Heifer)	18	1479.00	\$2,381.19	JVC Metals	\$2.10	\$3,105.90	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, Paul R Hutchins Surveying Services \$100.00, Philip and Danielle Malone \$10.00, Ricer Equipment \$100.00, Ryan & Danielle

2023-07-31 09:58:00 GMT-05:00 Page 107 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
335	Williams, Evan	Ridge Runners	Donor	Market Beef (Market Steer/Heifer)	121	1200.00	\$1,932.00	Mark Porter Ford	\$1.90	\$2,280.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, FLUOR- BWXT Portsmouth \$250.00, McNeal Farms \$120.00, North Wind Dynamics LLC \$250.00, Ohio Valley Bank \$35.00, Ricer Equipment \$100.00
336	Fisher, Maddox	Country Critters	Donor	Market Beef (Market Steer/Heifer)	103	1258.00	\$2,025.38	Boggs Pest Control	\$2.20	\$2,767.60	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Ricer Equipment \$100.00

2023-07-31 09:58:00 GMT-05:00 Page 108 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
337	Williams, Katelyn	Ridge Runners	Donor	Market Beef (Market Steer/Heifer)	21	1187.00	\$1,911.07	Diamond J Ranch & Diamond Ranch Rodeo, Jackson Meats, Michael Sheeter Quail Meadow Farm, Plum Rd Cattle	\$2.00	\$2,374.00	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, FLUOR- BWXT Portsmouth \$250.00, North Wind Dynamics LLC \$250.00, Ohio Valley Bank \$35.00, Ricer Equipment \$100.00
338	Lewis, Bradon	Oak Hill FFA	Last Year, Donor	Market Beef (Market Steer/Heifer)	124	1391.00	\$2,239.51	Russ Farm Equipment, Union Stockyards	\$2.20	\$3,060.20	Animals Unlimited Veterinary Hospital \$5.00, Bennett Family Farms \$25.00, G & L Farms \$300.00, Jim & Jennefer Tribby \$100.00, Mayer Law L.T.D. \$200.00, Ricer Equipment \$100.00, WesBanco \$50.00

2023-07-31 09:58:00 GMT-05:00 Page 109 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
339	Pariseau, Sariah	Forward Thinkers		Market Beef (Market Steer/Heifer)	12	1102.00	\$1,774.22	Arch and Eddie's, Putts Plumbing, Sixth Sense	\$2.20	\$2,424.40	Adena Health Systems \$50.00, Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$25.00, J & M Farms Feed and Supply \$100.00, Jackson Ag Service \$50.00, Ricer Equipment \$100.00
340	Lundy, Grace	Oak Hill FFA	Donor	Market Beef (Market Steer/Heifer)	132	1212.00	\$1,951.32	Diamond J Ranch & Diamon, Rodeo, Jackson Meats, Michael Sheeter Quail Meadow Farm, Plum Rd Cattle	\$2.10	\$2,545.20	Animals Unlimited Veterinary Hospital \$5.00, Jackson Ag Service \$50.00, Ricer Equipment \$100.00

2023-07-31 09:58:00 GMT-05:00 Page 110 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
341	Clagg, Wesley	Country Super Stars		Market Beef (Market Steer/Heifer)	131	1018.00	\$1,638.98	J & M Farms Feed and Supply, Oths, Heiser, Miller, Waigand & Clagg, LLC	\$3.00	\$3,054.00	Animals Unlimited Veterinary Hospital \$5.00, Patrick & Melissa Ball \$250.00, Ricer Equipment \$100.00
342	Fulkerson, Trent	Franklin Guys and Gals	Donor	Market Beef (Market Steer/Heifer)	141	1209.00	\$1,946.49	Jackson County Banking Center of Vinton County National Bank	\$2.20	\$2,659.80	Animals Unlimited Veterinary Hospital \$5.00, Circle M Meats \$50.00, FLUOR- BWXT Portsmouth \$250.00, Jackson Ag Service \$50.00, Ohio Valley Bank \$35.00, Randy & Candice Kennedy \$100.00, Ricer Equipment \$100.00, Sheward- Fulks Insurance \$100.00

2023-07-31 09:58:00 GMT-05:00 Page 111 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
343	Folden, Shane	Ridge Runners		Market Beef (Market Steer/Heifer)	109	1182.00	\$1,903.02	Chad and Samantha Russ, Diamond J Ranch & Diamond J Ranch & Diamond Rodeo, Fannin Cattle, Michael Sheeter Quail Meadow Farm, Plum Rd Cattle	\$2.10	\$2,482.20	Animals Unlimited Veterinary Hospital \$5.00, Marvin's Gardens \$50.00, Patrick & Melissa Ball \$100.00, Ricer Equipment \$100.00
344	Burchett, Chloe	Hayseeds		Market Rabbit	347, 349	7.10		Kim Harless, Jackson City School Bd. Member	\$42.25	\$300.00	Animals Unlimited Veterinary Hospital \$5.00, Cozy Glenn Firearms \$25.00, Good Farms \$25.00, Jackson Storage \$50.00
345	Burchett, Gage	Hayseeds		Market Rabbit	345 346	8.20		Holzapfel Family Clinic	\$54.88	\$450.00	Animals Unlimited Veterinary Hospital \$5.00, Good Farms \$25.00, Jackson Storage \$50.00

2023-07-31 09:58:00 GMT-05:00 Page 112 of 113 total

Sale #	Exhibitor	Club	Award(s)	Division	Animal ID(s)	Check-in Weight	Floor Price	Buyers	Bid Price / Ib	Bid Price	Add-ons with amounts
346	Allison, Libby	Franklin Guys and Gals		Market Swine	41	220.00	\$91.96		\$0.00	\$0.00	Animals Unlimited Veterinary Hospital \$5.00, FLUOR- BWXT Portsmouth \$250.00

2023-07-31 09:58:00 GMT-05:00 Page 113 of 113 total